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= 248,658
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I 62,200
= 921,169
= 3,471,328
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= 9,408
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aux 22 ¥ 23 8,500 7,917 583
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202 44l 1,500 627 873
01 = LHO4 I 1,500 627 873
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401 Al EHIZ 20| 3,000 0 3,000
01 Al&H| 3,000 0 3,000
OHLZUMAIE w22 3,000,000 & 14! 3,000
SIS e K& 12,600 6,880 5,720
& 3,780
= 8,820
403 TUHXIHMS =01 A 12,600 0 12,600
e 3,780
= 8,820
02 BJ12S0UeAHEEPEASHI 12,600 0 12,600
O FIIANAE HEXH (HASE =2&D])
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= 3,780
= 8,820
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Ol CHBH A= & 21 EF AR 8,720 5,995 2,725
E NI BOIN = N A
8,720,000 & x14] 8,720
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M
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=
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250,800
,003,200
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M
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Sl ATHAOIHK N L =23 (ol @2
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401 Al Z 8IS 0HYI 26,200 24,600 1,600
13,100
2,358
10,742

HHnX
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OFHAAHS HUXl EXAIY (EXAIA)
26,200,000 2 * 14! 26,200
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2,358
10,742

Y

FAHES LK SXIA
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b
i
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49,100
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14,731
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403 XXM SX=0l A 70,143 47,300 22,843
49,100
6,312
14,731
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JI2SOICHEHE E 2 EFALHI 70,143 47,300 22,843
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, 143,000 & *14] 70,143
49,100
6,312
14,731

HH S

g 28 UsSH 0184 22 (BHEEXY) 200,000 0 200,000
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140,000
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402 212+ X201 & 200,000 0 200,000

60,000
140,000

M

200,000 0 200,000

200,000,000% 1 A 200,000

60,000
140,000

H

OHIE =27 d5dMEX 2E5AtL 5,880 0 5,880

IS X201 & 5,880 0 5,880

Er AR 5,880 0 5,880
MuEI 2N

5,880,000& = 14 5,880
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0
%
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o
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27,475
61,975

H
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g
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e
o

192,700 221,700 229,000
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27,475

W
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FA - BHUE X
I daZofac
Rl dESol 2 (el &
- L=
RA - FH B (S0) - NRARY - BAS Ofl &t Gl HIDS2
= 61,975
HIMPRE AIHE 240tA JH 248 K& 8,000 8,000 0
= 4,000
= 4,000
201 et | 8,000 8,000 0
= 4,000
= 4,000
01 At22teltl 8,000 8,000 0
Ot EEE 25 X& 8,000,000 & = 14! 8,000
= 4,000
s 4,000
HIMPEE ALHE 240tA g A58 XA (XHAl) 8,300 8,300 0
201 Zer2 3| 600 600 0
01 At22teltl 600 600 0
OJl=d3 s 82= M& 3002 +2,0000H 600
307 212t01 ™ 7,700 7,700 0
05 2I2AAE =S 7,700 7,700 0
OS3R=2 2482 SH2CM X&E=s
7,700,000 & 12 7,700
BAHEQIEN 29 6,000 5,000 1,000
= 3,000
= 3,000
301 det2a= 6,000 5,000 1,000
= 3,000
s 3,000
2IIe2ds 6,000 5,000 1,000
OBAXQEN =9 18%6,000,000 £ 1 E 6,000
= 3,000
= 3,000
EIAZOIEN 2% (XHAl) 1,500 1,500 0
201 Zet2 3| 1,500 1,500 0
01 At 2t2lt| 1,500 1,500 0
OBAMEOEN JIY 2= M
300& *5,000% 1,500
SIIXHS X 0K 154,000 196,500 242,500
= 90,000
= 25,600
= 38,400
402 21z2tXt=201 154,000 196,500 A42,500
= 90,000
S 25,600
= 38,400
02 QI = AIE 2 X (01X THE ) 154,000 196,500 A42,500
O&IIXtSA 00 K& 15,400,000 = 10CH 154,000
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FA: R0 X2
Hm: M2
Ehel: MEZol 2el (ctel &3
L=
SA - HH -Gl () - MRAY - HES Ofl & o8 Gl HDE2
= 90,000
& 25,600
= 38,400
IS sHAZet =5 (XHAl) 2,400 2,400 0
307 glztol 2,400 2,400 0
05 BIZtRIEIZ 2,400 2,400 0
02&EXI| g el 2|
200,000 & =122 2,400
&II0IEXH 204 12,500 0 12,500
= 6,250
& 1,875
= 4,375
402 CIZ2EXH=0I A 12,500 0 12,500
= 6,250
< 1,875
= 4,375
02 QIZFRHE2AIE E Z (01X THA ) 12,500 0 12,500
OHMII0IEX 00 K& 2,500,000 & =5CH 12,500
= 6,250
= 1,875
= 4,375
s4AJg 4N 677,800 431,986 245,814
< 13,000
= 664,800
S0y 2 435t 677,800 431,986 245,814
= 13,000
s 664,800
S0 88 ¢ H2IE 46,000 19,890 26,110
201 23| 14,500 10,500 4,000
01 At22teltl 14,500 10,500 4,000
Os2JIE 82 2 JIERX EE= ME
5,000 & 5005 2,500
o2 JIPHZ &4 HA =25 7
2,000,000 & =14 2,000
o=+ gz EE2 2Y 2,500,000 & *4 2] 10,000
202 044l 1,500 1,500 0
01 = LHO4 Bl 1,500 1,500 0
OFAINZEXNE HRFH 150,000 & 2021 53] 1,500
405 KH&HE SHI 30,000 6,000 24,000
01 IHL =EFHSHI 30,000 6,000 24,000
o2 JISNZ &4 Al JEHE 7Y
10,000,000 & *3JH £ 30,000
=s3HX =8 =0 =JAAY 330,000 150,000 180,000
402 CIZ2EXH20I A 330,000 150,000 180,000
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el SA0|1Y 2E 243 (ctel &3
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& 13,000
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& 13,000
= 26,000
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307 glzZtol ™ 6,000 6,000 0
02 QI &AL E X 6,000 6,000 0
ONM=Z=LM MICHHZTA =7 K&
2001 2300, 000& 6,000
22X AP A 6,800 6,800 0
201 LEH2 A 2,000 2,000 0
03 A2 G| 2,000 2,000 0
O3 22X St0tY AL
2,000,000 & *14] 2,000
301 gergazd 4,800 4,800 0
12 J|Et2 43 4,800 0 4,800
OXNGAAH SHI2ZX A KR
800,000 & «6H 4,800
ol E M 125,000 103,000 22,000
oI E = 125,000 103,000 22,000
olR=ed| AIEE=X 125,000 103,000 22,000
201 et A | 1,000 103,000 A 102,000
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202 (44| 1,000 0 1,000
01 =LHO4 I 1,000 0 1,000
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-352 -




A
Xl XH -
[N B

chl

21 Ofl LY X 2t
ol
ol &

Off &t

123,000

123,000

I 201 S&

OXYMU AsAHSE WHHl X

A&
16,000,000 & * 141

2,000,000 & 14
50,000& 2, 10004

123,000

16,000

2,000
105,000

123,000

A Y

,902,920

136,000
384,000
502,564
880,356

2,445,008

A542,088

>
1%
82
J2
1]
o

TR =T

,902,920

136,000
384,000
502,564
880, 356

2,445,008

A542,088

d
d
ry
H
=
1)

M

289,840

10,894
278,946

261,774

28,066

101 @14 4|

Ml H

289,840

10,894
278,946

261,774

28,066

289,840,000 & » 14|

M

289,840

289,840

10,894
278,946

261,774

28,066

ANEZSHL AL (22)

M

558,000
279,000

83,700
195,300

558,000

101 @1 H|

A A

466,000
233,000
69,900
163, 100

466,000

04 J12tMI22 NS E
OXNSSSH LX2IAt

466,000,000 =141

H A

466,000

466,000
233,000
69,900
163, 100

466,000

RN

6,000
3,000

900
2,100

6,000

01 AtR 228l

6,000

6,000

-353 -




£AM:
R ZH -
o=

el

Off &t

OXgEsH ey 22
6,000,000 & 14!

RN

6,000
3,000

900
2,100

202 Oddl

M

2,000
1,000
300
700

2,000

01 =LHO I

OXNYAZBSH LRl =& 0]
2,000,000 & =14}

HH A

2,000

2,000
1,000
300
700

2,000

206 M= Hl

VRN

84,000
42,000
12,600
29,400

84,000

01 M=4|

OXGEsH LXelAtd M=
84,000,000 & * 14!

H A

84,000

84,000
42,000
12,600
29,400

84,000

M

66,000

26,400
39,600

78,000

212,000

307 212+01™

M

66,000

26,400
39,600

78,000

A 12,000

4 66,000,000 * 14!

o

©
0
1]
JA
e
>

o
o
=l
~
oY
0z
=
1]
HT

HLHA

o

ES=IN

Ml H

66,000

66,000

26,400
39,600

78,000

12,000

o
1%
JH
[pal
=
114
I
[pal
™
'_

oy
=
e
m
>
HO
08

M

12,000

6,000
6,000

12,000

307 giz2tol ™

Ml H

12,000

6,000
6,000

12,000

12,000,000 & * 14|

H

12,000

12,000

6,000
6,000

12,000

W

259,400
136,000

259,400

- 354 -




A
Xl XH -
L=l B

el

N ok
e o =
J
A

2
iy
>
0 &J
re
0%

bl

2
2
il
ol

(31AH) - M

Al

1T

%
&
0x
Jo

Off &t

M H

32,640
90,760

14,600

14,600

301 L2 A=
A

09 &

CE)EHEL NEXE

14,600,000 & * 14!

14,600

14,600

14,600

307 giz2tol ™

MR

244,800
136,000
32,640
76,160

244,800

) ¥4

2 xtel K&
244,800,000 & 141

H A

244,800

244,800
136,000
32,640
76,160

244,800

o
i)l
>
1%
o
0x
10
e
o
Ul

HH A

125,000
94,000
6,200
24,800

120,000

5,000

307 glz2tol ™

H A

125,000
94,000
6,200
24,800

120,000

5,000

125,000,000 & « 14!

HoH A

125,000
125,000

94,000
6,200
24,800

120,000

5,000

HH A

15,710
11,000
1,570
3,140

9,400

6,310

307 gIz2tol &

M A

15,710
11,000
1,570
3,140

9,400

6,310

15,710,000 & * 14|

A A

15,710

15,710
11,000
1,570
3,140

9,400

6,310

o

o
m
o2
>—
P
HT
1]
fu
>
o

A

478,800

335,160
143,640

1,087,034

A608,234

307 gIz2tol ™

478,800

1,087,034

A608,234

—-355 -




FA - BHUE X
Hm: D8 =7 U oHF
=R AglE 22 (el &
= _ d =
SK - FH B9 () - MRAY - B eSS 0f &rot i HIDS2
= 335,160
s 143,640
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201 LEH2 A 40,760 40,760
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OERANE 2EXE 1,000,000 & =104 & 10,000
OHMSANE 43 222 MHE
1,350,000 & *23| 2,700
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750,000 & *2JH 2 1,500
02 22244 4,560 4,560 0
OLAHSAIE CCTV HHZ 380,000 x12& 4,560
03 &ALZ & 20,000 20,000 0
OXHEANE Z3tlllzs SH A
20,000,000 & =14 20,000
202 O4H| 1,300 1,300 0
01 =8I 1,300 1,300 0
OFEANY 283 2L =
130,000 & 22153 1,300
207 AR 50,000 0 50,000
01 A= 50,000 0 50,000
OYSHEAT U FHBLBE I8 EH2Y
IA B2Y 50,000,000 & 14 50,000
301 LB AZ 4,471 4,471 0
09 HAIEBIEAZ 4,471 4,471 0
OAZEE s &It K& 231,100 & 50123 2,311
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108,000 & #5021 %43] 2,160
307 glzZtol ™ 6,600 6,600 0
02 QB HAIHE X 6,600 6,600 0
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01 A&t 20,000 20,000 0
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20,000,000 & * 14! 20,000
402 BIZtAI=0I A 10,080 10,080 0
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= 800
ONEAE FMEE SHAE X2
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= 750
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307 2lzZtol ™ 9,000 9,000 0
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,000,000 & *14] 9,000
Sot2tel &€ A8l 2S5 14,450 12,510 1,940
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Sotzel € A4HAEA 5,200 5,200 0
201 LEH2 A 3,900 3,900 0
01 At2teltl 3,900 3,900 0
OS2I SI/s| HHLY
70,000 & 1021 +23] 1,400
OSIHHM =22 M 5,000& *5004 2,500
202 44| 1,300 1,300 0
01 =LHO I 1,300 1,300 0
OSIIHM 23H HRFA 130,000 & 2021 x53| 1,300
SOt 2L JEXR 9,250 7,310 1,940
e 3,700
i 5,550
301 LB AZ 9,250 0 9,250
& 3,700
= 5,550
12 J|EIE &3 9,250 0 9,250
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9,250,000 & * 14 9,250
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YA (Z MO XID) 180,515 308,735 N 128,220
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o=z 10,2992 « 13021 «480 Al 2+ 64,266
03 2IHL2Z2 X E+ 72,377 163,623 A91,246
OZ2II2LIHRE 36,292
(OPJr=1 1,326,930 & 123 x 10l 15,924
Odd= 1,326,930 & »400%=* 12! 5,308
OAZt2=+=g
10,574 A x15A| 2t 128 *150%* 12! 2,855
OZE SOt 663,465% x23| * 12! 1,327
OFSEF=ga].] 100,000 & x 11«12 1,200
OFSE =y 140,000 & x 11«12 1,680
(OF - Ea=y 110,000 & x 11«12 1,320
Ool&==% 60,0002 *121«12& 720
Ox&=HY 100,000 & x1Q1x12& 1,200
OHItE 4] 84,595 152 x 12! 1,269
OdHEEZ 32,802,500& *0.0105 345
O=0a3 33,148,000 & *0.045 1,492
ong=d 33,148,000 & *0.015 498
OFakt= 33,148,000 & *0.0324 1,074
O 1,074,000& *0.0738 80
OFHaHA 36,085
oJl=s 1,269,370 & x121x12& 15,233
ORI 1,269,370 & *400% 5,078
OAlZt2lS 10,2142« 180 Al 2+ *150% 2,758
OZE SOt 634,690 & *23| 1,270
(OFSELF=gal.] 100,000 & 121122 1,200
O 140,000 & =11 %12 1,680
O&d=% 110,000 & x1Q1x12& 1,320
O 60,000 & 121 %123 720
(OETSES= 100,000 & 11«12 1,200
ON&EY 80,000& 12! %128 960
OHIIE 4] 81,7093 15 1,226
OXTHEERE S 32,645,000 «0.0105 343
OZ2AZREZ 32,645,000 & *0.045 1,470
OLEBEREYS 32,645,000 & *0.015 490
OALEBERES 32,645,000 *0.0324 1,058
OEIRABE= 1,058,000 & *0.0738 79
J1= 2| (M0l DH) 43,872 53,884 A10,012
Jl2Zdul (Z MOl XI2H) 43,872 53,884 210,012
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5 SIE]
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01 At 2teltl 25,872 29,884 N4,012
Oggt=EH| 14,760,000 14| 14,760
o=gtl 5,760,000 « 14| 5,760
ogxt= 5,352,000 «14] 5,352

202 04| 14,400 19,800 /5,400

01 2LHHHI 14,400 19,800 25,400
OgR=a Jl=0 14,400,000 & 141 14,400

203 B4 3,600 4,200 A600

04 FN2ELYRFAH 3,600 4,200 A600
SNSRI 300,000 x12& 3,600

Heas (ZHMHXIDH 130,000 0 130,000

WRHHXIE 130,000 0 130,000

LR HXIE 130,000 0 130,000

701 JIEt2l HSHES 130,000 0 130,000

01 JIEtl A A ES 130,000 0 130,000

OsSHATEALSEH HES

130,000,000 & =141 130,000
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